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Fe(ag) = 3NO; (ag) * 3Li'(ag) + 30H(ag) — (OH)s) + 3Li (ag) = 3NO;(ag)
net: Fe? (ag) + 30H (ag) — Fe(OH):()

6N (ag) + 2P0 (ag) = 3Ca™(ag) + CT(ag) — Cax(POY:(5)  ONu'(ag) + 6CTag)
"(ag) + 2P0, (ag) - Cax(POI(5)

INa(ag) + 5™ (ag) + 2Ag (ag) + 2C:H;0; (ag) — 2Na'(ag) + 2C;H;0; (ag) + Ag:S
net: 248 (ag) + S*ag) = ABSG)
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‘molecular: NaHSO(ag) ~ HBr(ag) — SO4(g) + NaBi(ag) = K:0(0)
ionie: Na"(ag) = HSOy(ag) + H'(ag) = Brag) — (¢)  Ne(ag) = B (ag) + H:0(0)
net HSO; (ag) = H'(ag) — S04(g) + H:0()

‘molecular: (NH.);COx(ag) + 2NaOH(ag) — 2NH(g) = Na:COx(ag) + 2H:0()
onic: 2NH (ag) + CO5*(ag) + 23 (ag) + 20 (ag) >

() + 2N4'(ag) + CO(ag) + 2H:0()
net: NH (ag) = OH(ag) — NEx(@) + E:0()

molecular: (NH.);C03(ag) + Ba(OH)y(ag) — BaCOx(s) + INHy(g) + 25,000
fonie: INHL (ag) + CO;(ag) + Ba™(ag) + 20H (ag) — BaCO(s) = INExg) = 2H:0(1)
net: INH (ag) = CO;(ag) = Ba(ag) = 20H (aq) — BaCO(s) + INH;(g) + 2H:0(0)
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@ molecular FeS(s) = 2HCl(ag)  FeCliag) + HiS(g)
fonic: FeS(s) + 2H (ag) + 2CT(ag) — Fe* (ag) = 2CT(ag) = HiS(e)
net FeS(s) = 2H (ag) — Fe(ag) = K:S(g)
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TLRmOp, )
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‘The 120.0 L of HCI must be diluted to 180 mL. The volume of water to be added i

180 L of V- 120 mL of V; = 60. L water
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